WALT: Solve 5-digit addition using a formal written algorithm involving trading.

Example:
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Activity 1: Complete the following 5-digit addition problems involving trading. Include all working out.
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Activity 2: Robbie completed 4 addition sums. His teacher asked him to check his answer by completing the inverse operation (subtraction). He has done the first one, can you do the rest?
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2 tens of thousands plus 5 ones plus 8 ones equals

3 tens of thousands equals 11 1 13 ones. Trade 10 ones
5 tens of thousands. 2 3 8 5 5 for 1 ten then record the
L34 5 6 8 3 in the ones column.
1 thousand plus
S \x5 8 42 3/ JEmpmswsnn
4 thousands equals Tae 10t
8 thousands. 1 hundred plus 8 hundreds 1 huncred then record
Record the 8 in the plus 5 hundreds equals the 2 i the ters calumn.
thousands column. 14 hundreds. Trade 10 hundreds :

for 1 thousand. Record the
4 in the hundreds column.
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